7/
/

AME: Period: SCORE: [ = %= :

HW 7-3

Proportional and Non-Proportional
iLnt 1 Relationships Unit 7
e Relationships  Lnit/

For each of the following graphs, state whether they represent a proportional or non-

Proportional relationship and how you know.
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Use the table to

6. Whic solye. Then explain your reasoning.
: Situation represents proportional relationship between the number of laps run by
each student and thejy time? Show your work and circle your answer:
Answer: MARIA or DESMOND

2 4 6 Laps, x 2 4 8
320 | 580 | [ Desmond's Time (s),y | 146 | 292 ssi,

correct it.
Ti ; Blake’s Thinking: It is proportional
ime (minutes) 1 2 3 4 because the number of laps always
Laps 3 5 7 9 increases by 2.
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8. A scuba diver descends, or goes farther underwater, at a constant rate of -5 feet every 20
seconds. Is the depth to which the diver descends proportional to the
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number of seconds

it takes to get there? Show work and explain how you know. g
Time (seconds), x 20 40 60 80
Depth (ft), y
Explanation:

Use a table to help you solve. Then explain your reasoning. .
9. Plant A is 18 inches tall after one week, 36 inches tall after two weeks, 56 inches tall
after three weeks. Plant B is 18 inches tall after one week, 36 inch.es ta}ll after two weeks,
54 inches tall after three weeks. Fill out the tables. Circle which situation represents a
proportional relationshi;i)_b_e_t\ﬁgglétk‘xe plants’ height and the number of weeks it has been
growing: PLANT A or1 LANT B

[iWeek,x \ 7 1 2 Week, x { 2|3
) Plant A’s Height, y 19 | 30 | Bw Plant B’s Height, y I8 |30 | s+
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10. O
" OE SoatUrSday, Sarah gave away 52 coupons an hour. Fill out the table. Is the number of
Pons Sarah gave away proportional to the number of hours she worked that day?

Hours worked
on Sunda
Coupons Given
away on Sat.

1 2 3 4

11. The fee for ride tickets at a carnival is shown in the table below.

| Fee () 5 9.50 | 14 | 18.50 l—/—
Ao \fu\ g = =
a) Is the fee proportional to the number of tickets? Explain your reasoning.
NO. “Tuere 15 NO Congtaut of @o?mrw‘w. @o COP)

b) Determine the fee for 30 ride tickets? Explain how you found it.
ANSwer:
i by buidf ontd e toble.

12. Brianna started with 20 songs on her iPod. Then, she downloaded 9 new songs each
month. Complete the table below. Is the number of songs downloaded proportional to

how many months have passed?

Month 0 1 2 3
Number of Songs

13. Tickets to the school dance cost $5 per student. Are the ticket sales proportional to the
number of tickets sold? Complete the graph below and explain how you know.

Ya
Number of ; 20
tickets sold TichetSales . 18 Fi
1 $5 & 16
2 $10 : 17
%]
3 $15 2 1 /%
S 8
= ol
4
Explanation: YES , A% ATorad - /
xplanation: } o i)

Straget e “nough L2734 59697 8 g W0k
He M&'w\_ Number of Tickets Sold



14. Each week I borrow $15 from my parents. The table below shows my debts for a
number of weeks. Is my debt proportional to the number of weeks? Complete the graph

below and explain how you know.

y Number of Weeks

-S

Weeks Debt ($) ¢
1 15 _1'2
= .
3 45 S 20
D .25
A
= -30
S 35
&= 40
Explanation: -45
-50

5

Determine whether the relationship between the two quantities shown in each table is
proportional by graphing on the coordinate plane. Explain your reasoning.

200

15. | Savings Account 175 b it ~ Caloriesin
Account 150 Fruit Cups
Week Balance (8) | & 55 : . Servings | Calories
1 175 g 100 i Kbt 1 100
100 8 75 | 3 300
3 25 . 4 400
0
Explanation: Explanation:
Nt Vwovh'c\(&al-

Txs @& 's.-\fmo‘,w W2 ; ok
WL not (rsS Anevgh 0,0

Calories

800 [ iy
350 |-+
300
250
200
150 |-
100 |-
50 |-

17. The Calories burned for exercising various number of minutes are shown in the graph.

Which statement about the graph is NOT TRUE?

A) The number of Calories burned is proportional T

to the number of minutes spent exercising. - e

e number of Calories burned is not proportional
to the number of minutes spent exercising.

Calories

Ya

30

20

10

[TiRoes 4.5 i

Time (minutes)



